[

m TSKUOOOOOOOOOOOO OO O O L standard Rolled Ball Screws




> o0

JISB1191000000O0OCI0000000000B0O0
gooobooooDbOoooboooooboooooooooDoo
gooooboboooooooooooOobO0ooooooOooobooobobobObooobobOoOoOoooOoOaon
RBROOOOOOOOOOOOOOOOOOOOOOOOO0OO0B0O00O0
goooobooobooboboooooooooo
gooooooooooooooobooooooboboooobooooo

Features:

TSK Standard Rolled Ball Screws with the built-in nuts having either a wiper brush or seat cap at both ends as the customer requests, are
standardized on C10 of the accuracy grade in accordance with JIS Bl 19I. Phosphate coated screws and nuts have beneficial effects on anti-
rust and lubrication, and allow customers easier management. RBR series adopting preload with distance piece makes zero axial play
possible. TSK can standardize Rolled Ball Screws up to the ultrahigh speed lead type. By standardizing and mass-producing shafts and nuts,
TSK provides how prices and the shortest delivery possible.

» 0000000 Materials and Heat Treatment

0O O Materials 0O O O Heat Treatment 0O O Hardness
000 Screw Shaft SuUJ2 0000000 Induction Hardening HRC560 62
000 Nut SCM415 gOdOggd Carbonized Hardenig HRC58[] 62

oooRrBzoOOOOOOOOOOOOOOOOOO0OOOOO

> 000000000O0O0OO Combination of Nominal Dia. and Nominal lead.

0000000 Nominal Lead
oooo

sl Ll 4 5 6 8 10 12 16 20 24 25 32 36 40 50

10 o

12 o .

14 o A o A

15 . O

16 o A o . m]

18 o A

20 o A o A o . O
22 o A

25 o o A O A . ]
28 O A

32 o A o .

36 A o A 0 O .

40 o A

45 o A o A

50 o o A O

o ORBSOOOODOOOOOFlangeTypeld e ORBHO OO OOO OO OO HighSpeed Lead TypelO
OORBEODOOODOOOOD O Super-High Speed Lead Typel AORBRO DO 0O0OOO DO Constant Pressure-Preload Typel




m 0000000

goooood

oboooobOOoooooobobooooooa

=) f=in

goooo0ooO0o0o0oooO000o000000000

O00ORBROOOOOODOOOOOOOOOO0O0OOOODO0DOOOUOODODODOUOOOOOUOOOO

K R A rH RN
N0 V// /i
e/ /
g agu /R
= =
ooao Oooo

goooooooooooo

obooboboooobboooobooooobooooobooooooooa

obhoooooooooboboooobboboooobooooooooobooooooboooooobooobooooooooooaon
cbhoobooooboobooboboooboooooooooboooooboboooooa

2 -7

—

(U

0000000000000 00000000000O0OO” FOOO

/Y

How to fit a nuton, and how to remove it out

When you move a nut out from a screw shaft, you must push exactly the end of sleeve to the tail of screw shaft, and rotate the nut on the
screw out to the sleeve. When you move a nut in, you must do the adverse operation]




il

gobooooooobooooobboooobobooooon

gooobooooooobooogoo

OoOoooOoo DOoooOoOO
ooooo
ooooooo oo
| ooo A B ooo @ D
RBS1208  WO1201 501201
RBS1404 22 2.8 26.6 35
- < - WO01401 501401
RBS1405
RBS1605
WO1601 25 2.8 501401 316 35
g RBS1610
LB
RBS1808  WO1801 501801
ooooooo RBS2005 30 2.8 35.6 35
WO02001 S02001
| . RBS2006
T‘-‘F
7 1l RBS2010  WO02002 S02002
. | I 33 2.8 39.6 35
— 2| —rt RBS2208  WO02201 S02201
I
\ ol RBS2505 = WO02500 36 2.8 S02500 41.6 35
' "\
= —
RBS2508 S02501 49 45
WO02501 40 3.6
o RBS2510 S02502 46 45
RBS2806  WO02801 43 3.6 S02801 52 45
RBS3208
WO03201 49 3.6 S03201 58 45
RBS3210
RBS3610
WO3601 52 3.6 S03601 62 45
0001.0000000000000000000 RBS3612
2.RBSOO000O0O0OOOOOOOOOOOOOOOO
QUooO0ooOn RBS4010  WO4001 57 3.6 S04001 67 45
3.RBROODOONONOONONOOOO0OOOOOOOOORBS | RBS4510
Q00000000 WO04501 62 3.6 504501 72 45
RBS4512
4.RBHOOOOOOODODODOODOOOOCOOOODOOOO
oooQ RBS5010  WO5000 64.5 3.6 0oooO0o0o0o
5 RBEOD0DOIONONONOOOOOOODONONONOOOOOO T —— 68 36 oooooooooo

ooo

)

gooooooooon




;i

R TSKOOOOOOOOO0O0O0OO000o00 RBSOOOODOOOOOOOOO
TSK Standard Rolled Ball Screws RBS(Flange Type) Series

1 Y/,
[=] ol _| c'; —_— 5
h=3 h=3 h:3 h=Y
— -t
.
Lo
|
A
0oo 0o 000 0ooo
ooo 0oo 0oo ooo oooo

oooo oooo | ooo . d m oo oo oo oo P.CD OO0

D d DI Lo D2 F P O
RBS1006 10 8.1 6 O 2.381 25 20 34 42 6 32 55
RBS1208 12 9.7 8 ] 2.778 25 25 44 45 8 35 45
RBS1404 14 11.7 4 ] 2.778 3.5 25 44 55 10 40 6.6
RBS1405 14 11.5 5 ] 3.175 3.5 25 44 55 10 40 6.6
RBS1605 16 13.5 5 O 3.175 3.5 30 44 58 10 45 66
RBS1610 16 13.5 10 ] 3.175 25 30 52 58 10 45 66
RBS1808 18 14.5 8 ] 4,763 3.5 34 56 64 12 49 6.6
RBS2005 20 17.5 5 ] 3.175 3.5 34 42 64 12 49 6.6
RBS2006 20 17.5 O 3.175 5 34 57 64 12 49 66
RBS2010 20 16.4 10 ] 4.763 25 38 55 68 12 53 6.6
RBS2208 22 18.4 ] 4,763 5 38 75 74 15 56 9
RBS2505 25 22.5 5 ] 3.175 2.5 40 36 64 10 52 5.5
RBS2508 25 21.4 O 4,763 3.5 47 66 83 16 65 9
RBS2510 25 20.2 10 O 6.35 5 44 90 80 15 62 9
RBS2806 28 25.5 ] 3.175 5 50 75 80 15 65 6.6
RBS3208 32 28.4 8 ] 4,763 5 56 78 92 18 75 9
RBS3210 32 27.2 10 ] 6.35 5 56 93 92 18 75 9
RBS3610 36 31.2 10 [} 6.35 5 60 98 100 18 80 11
RBS3612 36 30.6 12 ] 7.144 5 60 108 100 18 80 11
RBS4010 40 352 10 ] 6.35 7 65 115 114 20 0 14
RBS4510 45 40.2 10 ] 6.35 7 70 115 118 20 94 14
RBS4512 45 39.6 12 O 7.144 7 70 140 118 20 94 14
RBS5010 50 45.2 10 ] 6.35 7 80 125 140 22 110 18
RBS5016 50 43.0 16 O 9.525 5 85 144 165 24 125 22

e JOOO0OCode Namel

000000 Nut Typed
0 0 O Nominal Dia.O0
0 O 0O O Nominal Lead
000000 Screw Shaft LengthO
000 0without WNO | O 0 O O O Standard Typeld
Jﬁ WN 000000000 O Without Wiper Sealld

RBS 14 05—600—WN




oo
w
16
18
21
21
23
23
28
28
28
30
32
31
35
37
34
42
42
48
48
52
57
57
59
65

001 0O00000cOcalOdO0O0OO0O0o0OoOO2sokmbl0e0 0000000
00000000000090C00000000O0O0
3j000boo0o0ooboo0o0ooooobooo0oooo

Bl

gooooooo

0 oooao
H
16
20
21
21
24
24
27
27
27
30
30
27
30
35
33
39
39
39
43
45
51
51
52
59

ooo
ooo

0.10
0.10
0.10
0.10
0.10
0.10
0.14
0.10
0.10
0.14
0.14
0.10
0.14
019
0.10
0.14
0.19
0.19
0.22
0.19
0.19
0.22
0.19
0.30

C
80
110
130
170
180
170
380
210
300
340
600
170
470
990
350
730
1120
1200
1480
1690
1810
2220
2150
3230

000000 kof

ooo

Ca
280
370
540
640
690
510
1210
780
1060
1000
1890
650
1490
2920
1240
2320
3290
3510
4070
4950
5310
6120
6290
8090

ooo
Co

400
550
900
1000
1200
850
1900
1500
2100
1600
3600
1300
2800
5400
3100
5400
6900
7800
8700
12200
14100
15500
17700
18900

ooo
goooo

800
1000
1500
1500
1500
1500
1500
2000
2000
1500
2000
2500
2500
2500
3000
3500
3500
3500
3500
4000
5500
5500
5500
5500

000mm

ooo
oooo

RBS1006
RBS1208
RBS1404
RBS1405
RBS1605
RBS1610
RBS1808
RBS2005
RBS2006
RBS2010
RBS2208
RBS2505
RBS2508
RBS2510
RBS2806
RBS3208
RBS3210
RBS3610
RBS3612
RBS4010
RBS4510
RBS4512
RBS5010
RBS5016




M

TSKOOOOOOOOoOoooooboO RBHOOOOOOOOODOOOOO
TSK Standard Rolled Ball Screws RBH(High Speed Lead Type) Series

=
F
-
Lo
A
Doo . ooo Dooo
oog ooo ooo ooo gooo
oooo Oooo | 00O . d m oo oo oo oo PCD OO0
D d' DI Lo D2 F P O
RBH1212 12 10.1 120 60 ] 2.381 3 25 44 44 10 34 4.5
RBH1510 15 12.2 100 50 ] 3.178 5 34 51 57 10 45 55
RBH1616 16 13.7 160 80 O 2.778 3 30 57 57 10 44 55
RBH2020 20 17.5 200 100 O 3.175 3 34 67 60 10 47 55
RBH2525 25 21.9 250 12.500 ] 3.969 3 44 81 71 12 57 6.6
RBH3232 32 28.4 320 160 O 4.763 3 56 98 90 15 72 9
RBH3636 36 31.8 360 180 O 5.556 3 60 110 100 18 80 11
RBH4040 40 35.2 400 200 O 6.35 3 65 123 107 18 85 11

O00000Code Namel

000000Nut Typeld
00 O Nominal Dia.OJ
000 O Nominal Lead
Jj I 000000 Screw Shaft LengthO

RBH 15 10—600




4 1 1

)
#d

00000000

ooo oooo
w H
16 17
33 23

3—26 23
34 30
41 34
45 38
51 41

]

e

¢'92

—F -1
i
Lo
A
000000 kgf
ooo ooo
z ooo oo
© Ca
M6x 0.75 0.10 120 340
M6x 0.75 0.10 290 850
M6x 0.75 0.10 190 470
M6x 0.75 0.10 270 630
M6x 0.75 0.12 440 950
M6x 0.75 0.14 670 1340
PT108 017 930 1780
M6x 0.75 0.19 1200 2210

001 O000000cOcaldO0O0O00000025kmO10600000000

2. 000000000000C0O0O00O0O00OO000G0O0O00

RBH1510

ooo
Co

500
1300

800
1100
1800
2800
3800
4700

ooo
oooao

1000
1500
1500
2000
2500
3500
3500
4000

000mm

ooo
oooo

RBH1212
RBH1510
RBH1616
RBH2020
RBH2525
RBH3232
RBH3636
RBH4040




4 1 1

R TSKOOOOOOOOO0O0O000000 RBEOOOODOODOOOOOOOOO
TSK Standard Rolled Ball Screws RBE(Super-High Speed Lead Type) Series

L
b1
I Q— NN
o|w| | DN\ i o _
% e s N Y
L _‘ il
—1 %
K F L
Lo
A
ooog oo ooo
ooo
0oo Doo i
gooo gooo ooo f oood oooo oo
D d' d m DI K L Lo
RBE1520 15 12.5 200 100 O 3.175 3 34 10 27 47
RBE1632 16 13.7 320 80O O 2.778 2 34 9 18 37
RBE2040 20 17.5 400 100 O 3.175 2 38 10 25 45
RBE2550 25 21.9 500 12.50 O 3.969 2 46 12 31 55
RBE3620 36 31.2 200 100 O 6.35 5 70 20 38 76
RBE3624 36 30.6 2401200 O 7.144 5 75 22 50 90
RBE5050 50 44.0 500 250 O 7.938 3 90 24.5 71.5 118

e JOOO0OCode Namel

000000 Nut Typed
0 O O Nominal Dia.O)
000 0O Nominal LeadO
Jj I 000000 Screw Shaft LengthO

RBE 15 20—600




oo
D2

55
55
58
70
110
115
135

001 OO0OO0O0O0O0cOcabOoOOOOoOoOOO2s0kmdloedOO0O0O0O0O0O

2 1 b L1

oo
E

10
10
10
12
18
18
22

oooo

P.C.D
P

45
45
48
58
90
94

112

ooo
O

55
55
55
6.6
11
11
14

oo
z

M6x 0.75
M6x 0.75
M6x 0.75
M6x 0.75

PT10 8

ooo
ooo

0.10
0.10
0.10
0.12
0.19
0.22
0.24

220
130
180
300
1410
1800
1930

000000 kgf

ooo

530
250
340
510
3280
3940
3310

ooo
Co

850
450
650
1000
6700
7900
7400

ooo
oooo

1500
1500
2000
2500
3500
3500
5500

000mm

ooo
oooo

RBE1520
RBE1632
RBE2040
RBE2550
RBE3620
RBE3624
RBE5050




il

R TSKOOOOOOOOOO0OO0O00000 RBROODODOODOOOOOO
TSK Standard Rolled Ball Screws(Consistant Pressure-Preload Type) RBR Series

T Y/, “me
Yy Y _WU B HEM i
!

\
&
L

G
(_H__,J
Lo
A
|
ooo ooo

oogd oo
oooo oooo ooo DED ooo oooo oDooo oo DDDDDDD DDDDDDD oo

D d d DI T - Lo
RBR1404 14 11.7 4 8] 2,778 35 25 M24x 1 10 88
RBR1405 14 115 5 8] 3.175 35 25 M24x 1 10 89
RBR1605 16 135 5 u] 3.178 3.5 30 M28x 1.5 10 89
RBR1808 18 14.4 8 8] 4763 3.5 34 M32x 1.5 12 112
RBR2005 20 175 5 8] 3.175 35 34 M32x 15 12 82
RBR2006 20 175 6 8] 3.175 5 34 M32x 15 12 111
RBR2208 22 18.4 8 u] 4.763 5 38 M35x 1.5 15 147
RBR2508 25 21.4 8 8] 4.763 3.5 47 M42x 1.5 16 122
RBR2510 25 20.2 10 8] 6.35 5 44 M42x 1.5 15 180
RBR2806 28 25.5 6 o 3.175 5 50 M45x 1.5 15 147
RBR3208 32 28.4 8 u] 4.763 5 56 M52x 2 18 150
RBR3610 36 31.2 10 8] 6.35 5 60 M55x 2 18 188
RBR3612 36 30.6 12 8] 7.144 5 60 M55x 2 18 216
RBR4010 40 35.2 10 8] 6.35 7 65 M60x 2 25 230
RBR4510 45 40.2 10 o 6.35 7 70 M65x 2 30 235
RBR4512 45 39.6 12 8] 7.144 7 70 M65x 2 30 282
RBR5016 50 43.0 16 8] 9.525 5 85 M80x 2 40 304

e JOOO0OCode Namel

000000 Nut TypeO
0 O O Nominal Dia.O0
0 00 O Nominal LeadO
000000 Screw Shaft LengthO
000 Owithout WNO | 0 0O 0O O Standard Typeld
Jﬁ WN 0000000000 Without Wiper Seald

RBR 14 05—600—WN




4 1 ol

o0o0o00oon

ooo

W

21
21
23
28
28
28
32
35
37
34
42
48
48
52
57
57
65

oooo

H

21
21
24
27
27
27
30
30
35
33
39
39
43
45
51
51
59

C
130
170
180
380
210
300
600
470
990
350
730

1200
1480
1690
1810
2220
3230

000000 kgf

ooo

1210

780
1060
1890
1490
2920
1240
2320
3510
4070
4950
5310
6120
8090

ooo
Co

900
1000
1200
1900
1500
2100
3600
2800
5400
3100
5400
7800
8700

12200
14100
15500
18900

001 00ooOOo0oOoOooOoOo0ooOoooooooon

2. 0000000000090 DO000000000
3. D00000cCOCal 00000000 0O2s50kmb1060 0000000

0000000000000C0OO0O0COOOOOGCOOO0
30000000000000000000O0O0O00O00O00O

ooo
kgf

30
30
40
100
50
80
150
120
240
90
190
300
380
400
450
560
710

ooo
oooo

1500
1500
1500
1500
2000
2000
2000
2500
2500
3000
3500
3500
3500
4000
5500
5500
5500

¢D,

f
\

-

oooo
oo

F01401
F01401
F01601
F01801
F02001
F02001
F02201
F02501
F02502
F02801
F03201
F03601
F03601
F04001
F04501
F04501
F05001

L]

oo
D2

55
55
58
64
64
64
74
83
80
80
92

100

100

114

118

118

165

oo

10
10
10
12
12
12
15
16
15
15
18
18
18
25
30
30
40

oooao

P.C.D

40
40
45
49
49
49
56
65
62
65
75
80
80
90
94
94

125

000mm

ooo

6.6
6.6
66
6.6
6.6
6.6

6.6

11
11
14
14
14
22




;i

m oo
0000000000000000000000000000TSEDOOOOOOO0O0O0O0O00000000oo0oBDon
cbhoobooobooooooooo

The order for terminal machining of a screw shaft is accepted and the proccesing is carried out in obedience to the directions in your drawing
of parts. Please refer to the following charts when an order for terminal machining is placed with us. The terminal forms or dimensions

recommended by us are standardized on the basis the charts.

i

goooooboo

A

14
— 16
20
25
28
32

ooooooa

A
— 14
16
20
25
28
32

ooooooo
A

14

16
20
25
28
32

goooooo
A

f=p G

* 14
' 16
20
25
28
32

10
12
15
17
20
20

10
12
15
17
20
20

10
12
15
17
20
20

10
12
15
17
20
20

A W W W W

oooo
oo
S
M10X0.75
M12x 1
M15x 1
M17x 1
M20x 1
M20x 1

oooo
oo
S
M10X0.75
M12x 1
M15x 1
M17x 1
M20x 1
M20x 1

AbA W W W W

10
11
12
14
14

©

11
11
13
13

©

11
11
13
13

10
11
12
14
14

18
20
22
24
28
28

25
27
22
23
27
27

34
37
33
35
41
41

10
11
12
14
14

19
21
14
15
18
18

10
12
14
16
16

10
12
14
16
16

16
20
25
25
28
28

16
20
25
25
28
28

E
7
8
oooP
oo t
10 —
12 —
15 —
17 —
20 1.2
20 1.2
H
J
0 00
9 — —
47 3 18
47 4 25
48 5 30
55 5 3.0
55 5 3.0
H
J
0 0o
50 — —
57 3 18
58 4 25
60 5 3.0
69 5 3.0
69 5 3.0

E
19
21
14
15
18
18
oooo
O 0
19 1.35
19 1.35
L
K
0 0o
— 3 15
3 3 15
4 4 15
4 4 15
4 4 15
4 4 15
L
K
0 0o
— 3 15
3 3 15
4 4 15
4 4 15
4 4 15
4 4 15

000mm
gooooo
ooo
6200
6201
6202
6203
6204
6204

000mm
ooooo

ooo
6200
6201
6202
6203
6204
6204

000mm

ooooo
ooo

6200
6201
6202
6203
6204
6204

000mm

ooooo
ooo

7200
7201
7202
7203
7204
7204




Bl

[ ] 000 mm

s
H ooooooo oooo B L ooooo
B OO clopl|lrle| 1|3 K
o o A s 0 oo™ O |og|n| 288

i
(;i - 14 10 MIOX0.75 9 38 47 8 16 63 — — — — 3 1511 7200
16 120 MI2x1 9 42 51 10 20 71 3 18 14 3 3 1511 7201
20 15 MIS5x1 11 44 55 12 25 80 4 25 16 4 4 1514 7202
Sl O 25 17 MI7x1 11 48 59 14 25 84 5 30 18 4 4 15 14 7203
l ) : 28 20 M20x1 13 56 69 16 28 97 5 30 20 4 4 1516 7204
32 20 M20x1 13 56 69 16 28 97 5 3020 4 4 1516 7204
000mm
0oooooo Dooa L ooooo
oo c D E F
A s O oo N oo
14 10 M0X075 9 9 7 25 3 15 11 6200
16 12 Mi2x1 9 10 8 22 3 15 1 6201
20 15 Mi5x 1 1 1 — 2 4 15 14 6202
25 17 MI7x 1 11 12 — 23 4 15 14 6203
28 20 M20x 1 13 14 — 27 4 15 16 6204
32 20 M20x 1 13 14  — 27 4 15 16 6204
000mm
0oooooo nooa L ooooo
B oo c D E F
R s o oo N ooo
14 10 Mx075 9 18 7 3 3 15 11 7200
16 12 M1x1 9 20 8 37 3 15 11 7201
20 15 Mi5x 1 11 2 — 33 4 15 14 7202
25 17 M17x 1 11 24 — 35 4 15 14 7203
28 20 M20x 1 13 28 — 4 4 15 16 7204
32 20 M20x 1 13 28 — 4 4 15 16 7204

[ ] 000 mm

L
ooooooo uooo L 0oooo
\ R G B 0o € D F
A ooo

T s o oo N
— . O __
h:S
14 10 M10X0.75 9 38 47 3 15 11 7200
" 16 12 Mi12x 1 9 42 51 3 15 11 7201
s N 20 15 M15x 1 11 44 55 4 15 14 7202
= 25 17 M17x 1 11 48 59 4 15 14 7203
28 20 M20x 1 13 56 69 4 15 16 7204
32 20 M20x 1 13 56 69 4 15 16 7204




